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QUESTION 1

When configuring SmartEvent Initial settings, you must specify a basic topology for SmartEvent to help it calculate traffic
direction for events. What is this setting called, and what are you defining? 

A. Network; and defining your Class A space 

B. Topology; and you are defining the Internal network 

C. Internal addresses; you are defining the gateways 

D. Internal network(s); you are defining your networks 

Correct Answer: B 

 

QUESTION 2

When restoring R80 using the command upgrade_import, which of the following items are NOT restored? 

A. SIC Certificates 

B. Licenses 

C. Route tables 

D. Global properties 

Correct Answer: C 

 

QUESTION 3

Which features are only supported with R80.10 Gateways but not R77.x? 

A. Access Control policy unifies the Firewall, Application Control and URL Filtering, Data Awareness, and Mobile
Access Software Blade policies. 

B. Limits the upload and download throughput for streaming media in the company to 1 Gbps. 

C. The rule base can be built of layers, each containing a set of the security rules. Layers are inspected in the order in
which they are defined, allowing control over the rule base flow and which security functionalities take precedence. 

D. Time object to a rule to make the rule active only during specified times. 

Correct Answer: C 

Reference: http://slideplayer.com/slide/12183998/ 

 

QUESTION 4
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You have a diskless appliance platform. How do you keep swap file wear to a minimum? 

A. Issue FW-1 bases its package structure on the Security Management Server, dynamically loading when the firewall is
booted. 

B. The external PCMCIA-based flash extension has the swap file mapped to it, allowing easy replacement. 

C. Use PRAM flash devices, eliminating the longevity. 

D. A RAM drive reduces the swap file thrashing which causes fast wear on the device. 

Correct Answer: D 

 

 

QUESTION 5

John detected high load on sync interface. Which is most recommended solution? 

A. For short connections like http service ?delay sync for 2 seconds 

B. Add a second interface to handle sync traffic 

C. For short connections like http service ?do not sync 

D. For short connections like icmp service ?delay sync for 2 seconds 

Correct Answer: A 
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